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A salesman is allowed 12% commission on the total sales made by him and a bonus
of 1% on the sales over 15000. If the total earning of the salesman is 7650rs. Find

total sales ?

Uh HoddHd Dl 38h gRI Pl 5 ol TIhl TT 12% HAIRNA JR 15000 F 311Ah &1 fdht W
1% @1 1T a1 Sar 1 Ifg deddd T ol FATS 7650 TUA &1 Fol Ihr a8 HifSA?

= > 1.50000

3.70000
4.80000
5.NOT



A salesman is allowed 9% commission on the total sales made by him and a bonus of
1% on the sales over 20000. If the total earning of the salesman is 6800rs. Find total

sales ?

Teh Tashdl &Pl 38D GRT I 75 Hel fIhl T 9% FHaIA IR 20000 & 31fAh &Y farshr qT 1%
I A 1 Sar ®1 I Geddd T FoT FAS 6800 TUA & Fol TIhr 1 HIfSA?

= > 1.50000

3.70000
4.80000
5.NOT



A salesman is allowed 5 1/2% commission on the total sales made by him and a
bonus of 1/2% on the sales over 10000. If the total earning of the salesman is 1990rs.

Find total sales ?

T forchaT sht 38k SRT ShT T Tt forsht 0¥ 5 1/2% HHteT 3R 10000 ¥ 3tferes &y fersht @
1/2% T T {301 A1aT 71 AT Aeqd1T Y Hel HATE 1990 TUA 71 Fet forshr et hrforare

2.34000
3.35000
4.42000
5.NOT

( w m> 1.32000



A company allowed 9% commission on the total sales to his salesman and a bonus of
1% on the sales over 20000rs. If the salesman deposited 63200 in company after
deducting his earning on the total sales. Find the total sales made by salesman ?

Tk SHUAT = T AEEHA ol et ToTshl UX 9% HHIIE AR 20000 7 1feres hy fersht ¥
1% w1 a1 fam afs Feas 3 et forsht @ s1at ST e 3 a7 hu=t 7 63200
T fohm) Breaie g Y T St fershy T hifsrr?

/_\> 1.60000
w =) gl
(J /) 2.65000

3.70000
4.80000
5.NOT



A company allowed 5% commission on the total sales to his salesman and a commissio
of 4% on the sales over 10000rs. If the salesman deposited 31100 in company after
deducting his earning on the total sales. Find the total sales made by salesman ?

Tk SHUAT ¥ U AT HT SR et Telshl 0T 5% HHT TR 10000 TUF & AtereR hi farsht @
4% T HHTI fam afg Feeda ¥ FHet forshl W STt TS e & a8 a1 # 31100
T fohm) Breaie g Y T St fershy T hifsrr?

2.30000
3.22500
4.25000
5.NOT

( w m> 1.32500



A company gives 13% commission to his salesman on his total sales and above sales g}
of 21,200rs, a bonus of 7%. If the salesman deposited 57,324rs in the company after
deducting his commission from total sales. Find total sales (in Rs)?

Uh HUAT 3T AodAd Dl 3TN foehr o¥ 13% Pl el © 3R 21,200 34 & 316
T TP T 7% BT 9T SdT & Joadd o fchr O 31gaT HHR/MA Prehy HUAT H
57,324 ¥UY AT fhU| Pl TOehl (F0F A) A1 ?

g7 > 1.65662

3.71200
4.69800
5.NOT



When income of a man is increased by 6000rs, tax rate reduced from 18% to 15%.
While in both the situation 25% of the income is tax free. Find his initial income if

he paid equal taxes in both cases ?

T Tehs HATGHT T SATT | 6000 TUA T Feg Felt 2, AT T T X 18% & e 15% B ATAT 3
Sater g1 &t Rafa & 25 Hradt gy o Th gidt 21 Ife 98 ST JTHelt | |HT &1 T
AT hTAT § AT SHehT ST 3T FTA hTTr?

2.30000
3.40000
4.50000
5.NOT

( w m> 1.20000



A salesman makes a commission of x percent on the 1% 2400rs worth of sales and
y% on all further sales. If he makes 1400rs from 5400rs of sales in a month and

2400rs from 8400rs of sales in another month. Find the average of x and y ?

Teh Tashl TIshl & Ugel 2400 TUY Hed W x UTdRAT 3R 39T hr FHT fashr ux y% b1 haTer
hATAT &1 ITE a8 U ALA H 5400 TUY & fHhr § 1400 T0F 3R g@l AL # 8400 TU
I fadhr @ 2400 TUA HATAT &1 x 3R y &A1 3Td A1d HiaA?

( (£20) > -2

3.27.5
4.27
5.NOT



J gets some money from her grandmother, he spends 25% of the amount in buying
chocolates and 40% of the remaining in buying a T- shirt and rest of the money he gives

to his mother if the difference between the amount he gives his mother and amount he

spends on buying chocolates is 140rs. What is the amount he got from his grandmother?

) HUA ST & o U7 fAed §, a8 dfdelc @l # 25% TR @I &Xar & 3R qw iy
BT 40% Teh &I-qC Wl H @I Al ¢ IR AV YAT ST g8 37U AT Dl &1 & Iig I8
TAT AT & &1 S dieil AT 3R didhele TG W G T 75 TMA &b T &1 37T 140
TUY &1 38 37Ul griél @ fopdelr iy faeh?

.Rs.500
.Rs.580
.Rs.700
.Rs.750
.Rs.680

o B WN =




The ratio of the number of literate and illiterate peoples in a village is 5 : 2. From this,
60% of literate and 40% of illiterate people are males. Find the ratio of number of literate

and illiterate females in the village?
U g A FeR AR AT o & &1 @1 3qurd 5: 2 T THA 4 60% AN AR 40%
HIATETT oer gow &1 g A @ie’ AR HAT&T Afgens3n &1 F&ar &1 3quid dd Hifea?

1.4 :
2.2
3.3:
4.5
5.5:

N LW N W W



